PNEUMATIC LEVERAGE CLAMPS | EEAMSIREIZRS

CALC

PR 2 TSR BR 1

CALC PNEUMATIC
LEVERAGE CLAMP

EmTE

AR, RABSEERISNaREL, 11
EIERIUIIE, EEIERRRESRRE,
FERET BRI, ShEE,
HREERAIRGE, NEEmGE, B
FEIE, (EFSmR, ST R
WiSIERAERE, BEMA.

REY SRR A L R R

BXIBIEES: 7 kgf/em®
B/NMR{EES]: 3 kgf/em’
fEghs=: 1EE=

EREW
RE NI PR EE N,

STEEIERL ORDERING INDICATION
f5l: CALC-MS32-S1
CALC 7%l Series

Z2H: Blank
MS MS

FHIPVE

32 Cylinder inside diameter

g1 BB

Sensor switch

213 | R B R

FEATURES

Applied Standardized fixture clamp in this series of
product, and fitted with levertype holding structure.
Piston push out for clamping. Main spare parts of
this product be installed outside of the body for
convenient maintenance.

The material of body is aluminum alloy. The surface
of internal is smooth, and has a long service life.
Clamping spare parts material is carbon steel which
used for mechanical configuration, firm and wear-
resistance.

All models of this series equipped with magnetic
induction are available.

Max. operating pressure: 7 kgf/cm’
Min. operating pressure: 3 kgf/cm’
Double acting

NOTE

The acting speed of clamping-unclamping should be slowed down.

CALC

fE#ERY Standard type
MifARE With magnetic induction

25, ®32, ®40, P50,
®63, P80, ®100

S1: 1@ S1:1 pc of S1
S2: 2@ S2:2 pcs of S2

ZImEE Sectional view

THER

E

Unit:mm

M%i | CALC25 CALC-32 CALC40 CALC-50 CALC-63 CALC-80 CALC-100
#w A1 655 78 825 966 1155 138 1635
el — Standard
O e B 41 49 515 586 725 84 99
WEER A1 755 93 975 1066 1255 148 1735
maget B 51 64 665 686 825 94 109
Cc1 a13 016 o016 o019 022 022 025
c2 6 8 8 10 10 10 12
®D 5 6 6 8 ®8  ®10 D12
25 31 32 35 385 47 53
F 50 60 65 75 85 105 125
G1 45 53 58 66 76 94 110
F G2 14 17 20 23 295 37 45
/@\ G3 17 20 22 27 32 40 45
GZ’/ /\ H 3 3 3 3 3 3 3
’ @
- , J 40 a4 52 62 75 9% 114
g( ‘ \ - " - 50 58 71 845 104 124
@D g % j - K 28 34 40 48 60 74 90
ﬂ L M5X08 M5X08 M6X1.0 M6X1.0 M6X1.0 M8 M10
1% 1 105 1M 95 11 11 155 15
Q ]/ r E M  M5X08 PT1/8 PT1/8 PT1/4 PTi/4 PT1/4 PT1/4
( il N 8 9 10 11 11 14 18
B m% Il — o 75° 70° 65° 70° 65°  65°  60°
== |1 }H } = Q 010 012 o6 0 D0 ©25 032
I+ | =
1= IH1
il I
Il
pa
L
@® FHFFFL Clamping port
®MEERFL Unclamping port
MR8 28 SPECIFICATION
W g TR MR s AASE  RUEEEE WASEEDE EPLNEE R
vore, SHOI SAINS, coShn EShRCY USGNST TUEmAM RSO m., e
CALC-25 20 17 20 9.82 8.24 491 412 -10~+60°C
CALC-32 31 20 23 1849 15.89 8.04 691 10~+60°C | mmreimme
CALC-40 56 22 25 3140 2640 1257 1056 -10~+60°C O”i’iry
CALC-50 91 27 30 58.89 4947 19.63 16.49 -10~+60°C Cloan
CALC-63 169 32 35 109.06 98.00 31.16 28 -10~+60°C  Compressed
CALC-80 279 40 43 216.03 195.22 50.24 454 -10~+60°C A
CALC-100 469 45 48 376.80 3384 785 705 -10~+60°C

PNEUMATIC & HYDRAULIC CLAMPS | 214



	页 1



